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Easy HoseGuard® finder Ni/min - bar
1 Determine the operating pressure at
the place where the later use of the
the HoseGuard® is planned.
2 Measure the air consumption of the
consumer at operating pressure.
3 Add a safety allowance of 20% to the
o air consumption of the consumer!
+ 20%
4 Determine the intersection point of
’ ; ‘ the operating pressure and air
) consumption in the table (see back).
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5 . — The first curve on the right of the
. 7 intersection point is our HoseGuard®.
o , [ In our example the green
in : ‘ _ curve = 1/4" High Flow.
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6 (] ) Install the defined HoseGuard® and
Observe the Installation test the function Of the t00|; then
and operation instructions perform a function test in accordance
with the operating instructions.
Important
e The interior tube cross-sections in front of the HoseGuard® must be larger than or equal to the interior diameter of
the HoseGuard®. (The HoseGuard® nominal widths are for 1/4" =6 mm, 3/8" =10 mm, 1/2" =12 mm,
3/4" =19 mm, 1" = 25 mm).
e  The following figures must be observed as the minimum interior hose diameter: 1/4" =6 mm, 3/8" =10 mm,
1/2" =13 mm, 3/4"=16 mm /1" =19 mm.
e  Extremely long hoses may cause a high pressure drop at the end of the hose. This must be accounted for during
planning. Please consider that we need sufficient flow to enable the HoseGuard® to close!

Version 22.11.2017



MOl YBIH | pIenDasoH-u-

.| PiENDasoH—— MOl YBIH /€ PIENDSSOH— /€ PIBNDSSOH— MO|4 YBIH 2/ PIENDaSOH -8

\Z/| PIENDBSOH-s-

[unw/IN] A Buisola Joj ajes mo|4

00021 000} 00001} 0006 0008 000Z 0009 000S 000% 000€ 0002
= ¥
- a L] ol \L\ ) =
et = 1 9
LT LA P
\\\\ b\\\ \\ L \ H
\\\l\ \\\.1 \\ \\\!\ g m
e AT A LA =
\\-\ Pz % \l ) oL .m,
|7 “\ LT I -
P A -2 \\.\ — cL m.
L] A A P o E
P el d \\ ’ /|
e AT A Vi 9l
= A 7
\\\\\ \\“\\ \\ v Vi
| | gt 1 N 8L
mo|4 YBIH ,8/€ PIENDSSOH -+ .8/€ PJenason MOl4 YBIH /L plenasoH -+ WP/l PIen9asoH—- [LIw/IN] A Buise)d to} ajel moj4
00Z2Z ooLe 0002 0061 0081 001} 0091 00S) oovi 00€L 00z} 00LL 0001 006 008 002 009 00S oov
=
L1 =" 9
)
\...\ \.\ 8 w
[/}
\\ 1\\ \ mnnw
_— — oL s
2L T
H
141
( - .
\\.., e \ 9L
\\ \\
+ 8l
MO|4 MO b/l PIENSOSOH-=- [unwyiN] A Buisolo 10y a3es mol4
08 oL 09 0s or oe
— v
g - ;
= ]
8
oL @
t e T
o o e §
5 s
c G 148
‘0 Q- = = =
o) m T 0N 9
— e
O Il a1 N = N

81




